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There are THREE sections in the paper A, B and C.

QF T T YT G 1 F T 10 97T & I A | FedF 97T T 3% F1 8 0
& 10 9777 FEGHE THR F T % 8 |

Answer all the 10 paris of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

) Qe @ 3 8 v A @ fdl 6 ¥ % I AT | FIE WA 3 HF B8 T
7% 5 3 / 50 Wl 4 I e /|

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QT @ F 6 T 5 @ Fredl 4 T & IR Y | TeIE Y77 8 3 F E T

(v)

g7 15 3T / 150 Wregl § 37 Giad |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

URiE DFT & GHY 5T &1 FHER U GrY & Hilag |

Solve all the questions of a section consecutively together.

(i) 2T ST A i g @ R 4 3 e @ A 8 |

1. (1)

Only English version is valid in case of difference in both the languages.

AFH - T

SECTION - A
Frferfiaa § & faa et # nife Framor &t =gaw = ad 2 7
(a) ToepmE A (b) e fin geaem A
(¢) D.C.¥RHR (d) D.C.dif= mre

Which of the following motor has least range of speed control ?
(a) Synchronous motor (b) Slip ring induction motor
(¢) D.C. Shunt motor (d) D.C. Series motor

(10f 4) P.T.O.
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frffiga 3 @ fa uferrem % forg D.C. wiet i nafiresan & S 2 2

(a) Teafdfafad (b) HIA FEATH

(c) uftadHrg fd grga (d) 3= wrfires 3l

D.C. motor is preferred for which of the following applications ?
(a) Reversibility (b) Efficient operation

(¢) Variable speed drive (d) High starting torque

50 #A i % WY 750 A .. e aTelt A - g e & gl
HeE 2

(a) 4 (b) 8

(c) 6 (d 2

The number of poles of a three phase induction motor running at 750 rpm with
50 Hz frequency is

(a) 4 (b) 8

c) 6 d 2

A.C. 2T3d %1 T M FTR 7

(a) =TS wifém gl (b) 7 gTEE HieH

(c) Forega v it nfer 0t Fafora =6 (d) el | sexetten fawen
What is the main use of A.C. drives ?

(a) High starting torque

(b)  Group drive motors

(¢) Control the speed of an electric motor

(d) Interlocking system in industries

frferfiga 1 & form Het 1 gfiade det FE T2 7

(a) T A (b) Hifra Hrex

(c) WeHH (d) Tt e eam Wit

Which of the following motor is referred to as a universal motor ?

(a) Synchronous motor (b) Series motor

(¢) Shunt motor (d) Single phase induction motor
sﬁ%wm%m&mﬁﬁﬁﬁﬂﬁﬂaﬁwmﬁmm% ?
(a) @@ (b) #X

(c) e gfe (d) Iutraa |t

Which of the following components are used to build an electric drive ?
(a) Source (b) Motor

(¢) Control unit (d) All of the above

=1 3T 2T wTa e % feru i i sifehn fafy wew s R 7

(a) AR (b) Tt afdm

(c) Tefes afdm (d) ST sfd

Which braking method is the best method for obtaining high braking torque ?
(a) Plugging (b) Regenerative braking

(¢) Rheostatic braking (d) Dynamic braking
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(viii) Freferfiaa & & #14 @1 SCIM &1 98 wfera T8 2 7

(ix)

(x)

(a) HITeAg e $S99 HIt (b) TEETE A SSHH HI

(c) THFe & FA A (d) TEEel sl $SFH HIT
Which of the following is the correct abbreviation of SCIM ?

(a) Solid cage induction motor (b) ~ Square cage induction motor
(c) _Squin‘el cage inverter motor (d)  Squirrel cage induction motor
e fiiel -t famfyeet @i -ahact &1 ral 8

(a) e Ot Us wE HL AN, 3R U e E

(b) ue G g wE LA, S S

(¢) eI dUH 2l v HLAR. H

(d) WIS NHd T

A single-phase symmetrical semi-converter employs

(a) One SCR and one diode in each leg

(b) Two SCRs and two diodes in each leg

(¢) Two SCRs in each leg

(d) "Two diodes in each leg
@ﬁnﬂ-ﬁmﬂﬁ&iﬁﬁﬁ—mﬁmﬂmmwmﬁm% ?
(a) z St Hien wire % A foEfea deTer § wErd H 2 |

(b) ¥ Ha & @i 7 frefdea e 1 g @ |

(¢) ¥& DC T8 R 1 J7ad & &1 & |

(d) ¥ DC @Tg uT ! Haa HLE 2 |

What is the role of a freewheeling diode in a single phase symmetrical semi-
converter ?

(a) Itassistsin regenerative operation with a DC motor load.

(b) It increases reactive power drawn from the source.

(¢) It makes DC load current discontinuous.

(d) It makes DC load current continuous. (1x10)
Yo — ot
SECTION-B
Tafaes grga &1 gfvaraa i |
Define an Electric Drive. (3)

wmaaﬁ@ﬁmmmmml

State various systems of Braking of Electric motors. 3)

(1)
(i)

ﬁmm%mwﬁzﬁwmﬁﬁm

Eo
<t et

(iii) fereea 3iv FgRE

Mention suitable motors for the following applications :

(1)

Cranes (ii) Sugar Mills (iii) Lifts & hoists 3)
P.T.O.
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feerq fior i -ahefia Sun 912t i g9FsT |

Explain the slip ring three phase induction motor. - (3)
U -l 3 FAael SCR $15d &l HETUTEA! H1 qui HL |
Describe the working of single phase dual converter SCR drive. (3)
uHA-H Y a0 FAE R-L #iig \igd & aftey s it |
Draw the circuit diagram of single phase half wave converter with R-L load. 3)
o1 wiet % e v/f fam & el 1 geftag fifaw |
List the advantages of constant v/f control of induction motor. (3)
A- TEaH T ! AT JfehT S THIAE |
Define dynamic braking of 3 phase induction motor. (3)

g — €t

SECTION -C

A.C. 378d 3R D.C. 3159 1 gei-TcHeh avid & |
Compare A.C. drives with D.C. drives. (8)
<l vie Hiet # @A are et s faeem % amen |
Explain the plugging braking system applied to D.C. shunt motor. (8)

frfafiaa vwa-%a A.C. died &t sare $ifdu

Explain the following single phase A.C. motors

(i) huféet wré wied
Capacitor start motors
(i) ifee e wied
Shaded pole motors (4x2)

99 ®9 & Iafad 8. At F d-%a pf Frafa fepedt fream i oftey sma afea
AT HifAu |

Explain three phase fully controlled rectifier control of separately excited d.c. motor

with circuit diagram. (8)
0 HIa 3¢ el fafe i 3@ gfed gwznse |
Explain with diagram the current source inverter control method. (8)

feshia Hiex grga & foru argshteahe et smanfta v & garem = faa afed gugmu |

Explain with diagram the operation of microcontroller based control for synchronous
motor drives. (8)



